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" PAPER 2 __ J ' 2% hours

This paper consists of two Sections, A and B. Answer two questions from Section A and three
questions from Section B. You are reminded of the importance of clarity of expression and orderly
presentation of relevant material. Calculators may be used but all working must be shown.

1. (a)
(b)

2. (a)

(b)

3. (a)
()

(b)
()

SECTION A
THEORY OF FINANCIAL ACCOUNTING

Answer two questions only from this section.
What is a general journal? ]

State six uses of the general journal. arks]

List four items each that are found on the

@) credit side of the sales ledger control account; L 4

(i) debit side of the purchases ledger control accoun

[8 marks]

List seven types of errors a trial balance willdnot ré %

\ [7 marks]
ieand private companies. [9 marks]

Outline three distinguishing feafiires

State three rights available to an or reholder. [6 marks]
What is depreciation a [3 marks]
List three caus f depreciation. [3 marks]

[9 marks]
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Section B
FINANCIAL ACCOUNTING PRACTICE
Answer three questions only from this section.

5. Momoh Enterprise cash book showed a debit balance of Le 4,500 on December 31, 2014.
Further examination revealed the following:
M A direct debit of Le 350 for subscription had been paid by the bank;
u Bank charges of Le 500 had not been reflected in the cash book;
[ | Payment settled by standing orders were omitted from the cash book;
electricity bill Le 70, insurance Le 100, medical bill Le 120;
A dividend of Le 320 paid directly into the bank had not been entered in the cash book;
It was discovered that the cash book balance brought down was undercast by Le 180;
Cheques amounting to Le 4,800 issued had not been presented for payment;
Cheques amounting to Le 1990 paid into the bank had not yet been credited.

You are required to prepare:

(a) the revised cash book. ¢
(b) bank reconciliation statement as at December 31, 2014,
[15marks]
6. The following is the Receipts and Payments Accounts of Kayo b for the
year ended 3 1st December, 2014.
RECEIPTS AND PAYMENTS FOR THE YE 18T DECEMBER, 2014
ES ¥ E*S
Cash in hand 1/1/2014 500 e of sports equipment 1,800
Cash at bank 1/1/2014 1,00 ir ‘ 1,500
Subscriptions: alaries 1,700
2013 1,200 rance 1,000
2014 4,000 how expenses 3,200
2015 2,300 Transport expenses 500
7,500 | Secretarial expenses 300
Donations ,000 | Purchase of furniture 3,000
Balance c/d 16,000
End of Year show . 15,000
Transfer from depo @ 1 3,000
29,000 29.000
Additional in n:
. Eq nt was valued at 33,250 and furniture 1,550 on 31st December, 2013.
. reciation is to be provided as follows:
Equipment 3%505
Furniture 3% 55
The following expenses were outstanding:
Salaries 2 300
Transport 2 100
Repairs = 250
. Subscriptions owing by members were as follows :
31st December, 2013 241,200
31st December, 2014 22,100
° The balance in the bank deposit account at 31st December, 2013 was 3%3,000.
Turn over
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You are required to prepare :
(a) Statement of affairs as at 31st December, 2013;

(b) Subscription account for the year ended 31st December, 2014;

(c) Income and Expenditure account for the year ended 31st December, 2014.

[15marks]
7. The following balances were extracted from the books of Ogba Enterprise on December 31, 20
e

Capital 315,20
Purchases 2
Sales 4,700
Carriage inwards 410
Premises at cost 215,
Equipment at cost 198,000
Trade debtors 76,800
Bank overdraft 63,509
Trade creditors 64,820
Cash in hand 13,400
Stock(January 1,2014) 27,680
Salaries and wages 56,700
Provision for doubtful debts 13,000
Discount allowed 11,450
Drawings 70,000
Discount received . 22,800
Electricity 29,229
General expenses 37,060
Rent 43,000
9% Debentures 100,000
Return inwards 24,500
Return outwards 16,000
Additional infogiati
¢ % at December 31, 2014 was 329,400;
¢ ision oubtful debt to remain at 8% of debtors;

expenses owing totalled 3%12,860;

aid 2 19,500;
ciation is to be provided as follows:

Premises 12%% on cost;

Equipment 10% on cost.
You are required to prepare:
(a) Trading, Profit and Loss Account for the year ended December 31, 2014; and a
(b) Balance Sheet as at that date.

[15 marks]
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The following information relates to the books of accounts of Adom Limited.
TRADING PROFIT AND LOSS ACCOUNT FOR YEAR ENDED 31ST DECEMBER 2014.
GHg¢ GHg¢
Opening stock 20,000 Sales 240,000
Add: Purchases 160.000
180,000
Less: Closing stock _36.000
Cost of goods sold 144,000
Gross profit ¢/d 96.600
240,000 240,0
Selling and distribution
expenses 73,200 Gross profit b/d 000
Administrative expenses 14,800
Net profit _8.000
96,000 96.000
=l ﬁ
BALANCE SHEET AS AT 31ST DECEMBER.201
GH¢ GHg¢ GH¢
Share capital:
Ordinary shares 1 el at cost 125,000
Preference shares 107000 ss: Depreciation 25.000
General reserve 24,000 100,000
@ urrent Assets
2 Stock 36,000
2,000 Debtors 39,000

Trade creditors
Accruals

|

You are required to calculateg

of stock turnover;

Working capital;
(h)  Shareholders’ fund;

(i)  liquid assets.

spwl6/SCI042& 1/me/fho

Profit and loss account _ 8,0
Current liabilities -
2

—

{ the following:

4

LA C A B

8

e

Cash and bank 7,000 §2.000

182,000

[15 marks]

Turn over
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9. The following information was extracted from the books of Dauda Manufacturing Company
for the year ended 3 1st December, 2012.

D
Stock of goods-1st January, 2012:
Raw materials ) 8,000
Finished goods 28,000
Work-in-progress 2,000
Purchases of raw materials 40,000
Carriage inwards 1,000
Manufacturing wages 100,000
Sales ,
Rent
Factory expenses
Royalties
Stock of goods- 31st December, 2012:
Raw materials
Finished goods @ 26,000
Work-in-progress 1,500
Depreciation:
Machinery 7,500
Delivery van 1,280
Selling expenses 3,000
Discount allowed 1,500
Additional information: @
¢ Factory expenses prepaid amougte 5,000,
¢ Selling expenses accryéd was D 00;

tory and selling department in the ratio 5:3

¢ Rent is apportio
respectively.

You are required tOyprepar anufacturing, Trading and Profit and Loss Account for the
year ended 3 ccmber, 2012,

\06

[15 marks]
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Answer all the questions. 1 hour

Each question is followed by four options lettered A to D. Find the correct option for each question
and shade in pencil on your answer sheet, the answer space which bears the same letter as the option
you have chosen. Give only one answer to each question. An example is given below.

Which of the following documents is used to deposit money into a current account?
A. Passbook

B Paying-in slip

C. Cheque book

D Credit card

The correct answer is Paying-in slip, which is lettered B, and therefore answer space B would be ¢ @

C A3 g st | D3 cEx
Think carefully before you shade the answer spaces; €rase completely any answer(s) you wi: ange.
Do all rough work on this question paper. *

Now answer the following questions.

1. External users of accounting information include
A. employees.
B. management.
€. bankers.
D. directors.
2. Every asset should have ‘
A. a non-monetary value.
B. tangible and intangible qua ‘ \
C. monetary cost and futurg.ben |
D. an inadequate monetaty v
3, Which of the followin nal accounts?
L. Investm@nt
II. Creditors
11 Premi
Iv. Debto
V. Sal
A . v
- ,Tand V
C nd IV
I and V

Nwoye buys stock and pays by cheque.The entries in the books of Nwoye is debit

A Purchases; credit cheque.
B. Purchases; credit Bank.
. Bank; credit Purchases.
1 cheque; credit Purchases.
5. A bank statement shows an overdraft of GH¢ 190,000. Kofi, a debtor paid GH¢400,000 into the

account.The new bank balance is

A. GH¢ 590,000.

B. GH¢ 590,000 overdrawn.

C. GH¢ 210,000.

D. GHe¢ 210,000 overdrawn.
spwl6/SC1042& l/me/tbo
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11.

9
Which of the following errors are errors of commission:

I. A cheque paid to Adom debited to Adam’s account;

I1. Credit sales to Eva credited to Sales account but debited to Eve’s account;
I1I. Furniture repairs debited to Furniture account;

V. Credit purchases from Manu credited to Manu’s account.

Al I and 11

B. Tand IV

C. IT and IV

D. Il and IV

A Petty cash account has an imprest of GH¢ 6,000. If GH¢ 2,000 were left, how much will b
re-imbursed at the end of the period?
A. GHg¢ 8,000
B. GH¢ 6,000
C. GH¢ 4,000
D GH¢ 2,000

*

Cash paid to Jake 2 2500 was entered on the credit side of his acc debited to cash account.
This is an error of

principle.

commission.

complete reversal of entries.
original entry.

oO® >

0, less 12%% trade discount and cash
ithin the credit period, the amount paid is

One of the purchases invoice of Mr. Dauda shaawed
discount of 20%.Since Mr. Dauda paid the afou
A. D 77,368.

B. 1y7 3,157,

C. D 67,368.

D. D63,157.

Bank reconciliation gtater ared to reconcile the differences between

A. Bank stateme ansfers
B. Cash book

C. Bank state

1.

Which

A.

B viston for depreciation

(& riage outwards

lowances for doubtful debts

e preparation of the Trading account of Omuya Ltd, the company included credit sales of
218,000 made during the year. The concept guiding this treatment is the

A materiality concept.

B. dual aspect concept.

C. matching concept.

D money measurement concept.

Turn over
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14.

15

16.

17.

18.

10

In accounting context, purchases refer to
A. goods bought and paid for only.

B. goods bought for resale only.
@. goods bought on credit only.
D. goods bought to be used in the firm only.

Which of the following items is a current liability?

A. Stock of raw materials
B. Cash in hand
C. Bills payable
D. Cash at bank

The balance sheet is prepared to reveal

A. the result of the operations for the period under review.

B. the financial position of the business.

C. the arithmetic accuracy of the ledger.

D. the accruals and payments. *

The excess of cost of goods sold over net sales is
A. gross profit.

B. gross loss.
C. net profit.
D. net loss.
Use the following information to answerggues Tand 18
Rent prepaid 01/01/2014 _ 600
Rentpaid ~ 31/12/2014 3000
Rent prepaid 31/ 12/2014 400
Rent for 2014 chargeable to#he it loss account is
A. 3 4,000.
B >3
(@ 230
D 2.4
The bal
A. cu

urrentasset of ¥ 400.

nt liability of 3 400.
urrent liability of #¥ 600.

ich of the following would result from an increase in the provision for doubtful debts?

A. A decrease in gross profit

B. A decrease in net profit

. An increase in gross profit.

D. An increase in net profit

Use the following information lo answer questions 20 and 21

N F -

Acquisition cost of computers 80,000

I[nstallation cost 20,000

Estimated residual value 4,000

Estimated useful life Syears
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20.

21.

22,

23.

24.

26.

B. :
C 1327673,

; 2,200.
T

11

The depreciable value of computers is
A. Le 80,000.
B, Le 96,000.
C. Le 100,000.
D. Le 104,000.

The total costs of the computers is
A. Le 80,000.
B. Le 96,000.
C. Le 100,000.
i Le 104,000.

Which of the following expenses constitutes prime cost?

I. Direct labour cost

i85 Factory overheads

II1. Hiring of machine for production V'S
IV. Warehouse rent

A. I and II only

B. I and III only

C. L, I and IIT only

D. I, Il and IV only \

Partly manufactured goods are treated in th al@o manufacturing company as

A. current assets.

B. fixed assets.

C. current liabilities.

D. long term liabilities.

Use the following information to.ans ions 24 and 25.

D
Cash purchases 29,641
Creditors 1/1/14 2,473
Creditors 31/12/ 3,117
Cash paid to cre S 127,345
Discount receiv; 4,211
The credit

A,

al purchases is
D 161,841.
! D 156,986.
. D 134,673.
b A D 132,200.

Offei, a petty trader sold goods for GH¢ 36,240.The gross profit being 333% on cost. What was the

cost price?

A. GH¢ 45,300
B GH¢ 28,992
1N GH¢ 27,180
D GH¢ 24,160

Turn over
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28.

29.

30.

31.

32.

12

Which of the following is a credit item in an Income and Expenditure account?
A. Electricity

B. Donations

C. Stationery

D. Bar supplies

Purchases of fixtures and fittings by a club is recorded in the

A Receipts and payments account only.

B Income and expenditure account only.

C. Receipts and payments account and Balance sheet.

D Income and expenditure account and Balance sheet.

The concept which states that the affairs of a business are to be treated as being s@paFat ¢
private activities of the owner is

A. realization concept.

B. business entity concept.

C. cost concept. *
D. dual aspect concept.

Where fixed capitals are maintained in a partnership, share of ¢
A. crediled to partners capital accounts.

B. credited to partners current accounts.

L debited to partners capital accounts.

ip debited to partners current accoun Q

In the absence of a partnership agreement, ddditio tal contribyutions by partners attract interest
of ‘

A 5%.

B. 10%.

& 12%.

D. 15%.

In preparing partners u interest on drawings is debited to current accounts and credited to
A Capital

B. Approp t

C. Draw ount.

D. P Account

otments have been fully paid, subscribers are referred to as
S.
licants.
non-members.
sharehoiders.

Use the following information to answer questions 34 to 36.

Oruma Ltd issued 300,000 ordinary shares at 2€1.00 each. Applications were rzceived for 200,000
shares and all those who applied, paid in full.

The subscribed share capital is
A. 2:300,000.
B. #+250,000.
C. 2200,000.
D. 2 150,000.

spw16/SC1042& 1/me/tbo



35,

36.

3T

38.

39.

40.

41.

42.

13
The unsubscribed share capital is

A. 2 300,000.
B. 2 200,000.
C. 2 150,000.
D. 2 100,000.

The authorized share capital is
A. 2£300,000.

B. 250,000.

. #200,000.

D. 2150,000.

The Branch current account records

A, head office transactions with the branch.

B. branch transactions with the head office.

C goods sent to branch at selling price. >
D. cash received from branch as sales.

The entries for credit sales at branch where the head office keeps al arcidebit
A. Branch Stock Account; credit Branch Debtors Acco

B. Branch Debtors Account; credit Branch Stock Accdount.

C. Branch Debtors Account; credit Branch Adjustment 0

D. Branch Adjustment Account; credit Branch De C t.

The cost of goods returned by branch to head o § @

A. Branch Stock Adjustment account,

B. Goods Sent to Branch Account,

C. Branch Stock Account.

D. Branch Profit and Loss Accoun

Which of the following is a sourcedf loc overnment revenue?
A. Excise duties
B Market duties
C. Import duties
D Loans and gr

The transfer of e sub-head to another in the public sector is

tot e discounts received column in the three column cash book is
ebited to Discount Received Account.
credited to Discount Received Account.
debited to Discount Allowed Account.
credited to Discount Allowed Account.

Which of the following expenses is apportioned between departments based on sales?
Discount received

Electricity

Carriage inwards

Carriage outwards

cCaowpx

Turn over
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45.

46

47,

48

49.

50.
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In the purchase of a business, a buyer has paid more than the value of the net assets of the business.

The excess payment is referred to as

A. bonus.

B. goodwill. 4
C, net profit. )
D. premium.

Assets which are readily convertible into cash are termed as
liquid assets.

fixed assets.

intangible assets.

tangible assets.

gOw»

A loan to a company, under the company’s seal is
A. fixed deposit.

B morigage.

C. bond.

D. debenture. 4
Debts that a firm is unable to recover are debited to Bad Debts A a dited to

A. Suppliers Account.

B. Sales Account.

C. Customers Account.

D. Cash Account.

i rite off the asset are; debit

When a fixed asset is disposed off, the accou s t
sall unt.

A. Profit and Loss Account, credit Asset 0
and

B. Asset Disposal Account, credit Pr s Account.
C. Asset Disposal Account, crgdit unt.
D. Profit and Loss Account, cr rovisionfor Depreciation Account.

The financial statement which,i§ an esSton of the accounting equation is the
A. Trading Account.
B. Profit and Loss
. Balance she
D.

of omission

END OF PAPER
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